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General Instructions :

(i)  This question paper contains three parts A, B and C.

(ii) Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.
(iv) All parts of the questions should be attempted at one place.
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Part- A
(Not for Profit Organisations, Partnership Firms and Company Accounts)
HT-F
(FTATHHRT WG, WIHAGRT BH T HHT TT)

1. When the Receipts & Payments Account is converted into an Income & Expenditure
Account, an accounting concept is to be followed for the provisions of the Accruals
& Outstanding. Name the concept that is followed.

S Wit T ST @ S SR -39 Wi W o e & & swfea 9o enw F o
ST A o [oTT Teh ST HheT T STERUT [T STAT & | 39 WehodT o1 718 sarsd |

2.  Can a partner be exempted from sharing the losses in a firm ? If yes, under what
circumstances ?

T UF WEER H FH | &7 el a1l § GIER a9 § qa 61 ST §ehd1 ¢ 7 37 &, af o=
aRfeafaar 7 ?

3. Why should a firm have a partnership deed ?
T 1 | WRIERT foei@ =1 81 41 Aevas € ?

4.  How is interest on drawings calculated, if the drawings are made at regular intervals,
as on the first day of each month ?

A SRR T TR % W i P st 8 Freet o E A st 9 o ) R e
£?

5. Why would an investor prefer to invest in the Debentures of a Company rather than
in its Shares ?

U Ta9Th o St o 3791 1 319eT ROTgEt | (v S i T wrefiehar 3 ?

6.  From the following information calculate the amount of subscriptions to be credited
to the Income & Expenditure Account for the year 2007-08.

Rs.
Subscriptions received during the year 80,000
Subscriptions outstanding on 31% March, 2007 26,000
Subscriptions outstanding on 31* March, 2008 6,000
Subscriptions received in Advance on 31-3-2007 15,000
Subscriptions received in Advance on 31-3-2008. 10,000

Subscriptions of Rs.12,000 are still in arrears for the year 2006-07.
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Aot gammet @ a¥ 2007-08 | T4-599 @Id & ST & 3R fa@t ST areft o< @ e
YT =T UM T '

T
9 | T | YT A 80,000
31 AT 2007 S 3_T TR 26,000
31 |1 2008 H 3EW T 6,000
31-3-2007 i Ya&9 T 15,000
31-3-2008 =l Ja&H 9<% 10,000

& 2006-07 F 12,000 T9F = & A f THEATE |

7.  The Directors of a Company forfeited 200 shares of Rs. 10 each issued at a premium
of Rs. 3 per share, for the non-payment of the First Call Money of Rs. 3 per share.
The final call of Rs. 2 per share has not been made. Half the forfeited shares were
reissued at Rs.1,000 fully paid. Record the Journal Entries for the forfeiture &
reissue of shares. 3

TF AT & GO A 10 T9F Yo gw a1 200 3797, et e 3 S9an wia 3t wites )
T 77T T, 3 BT Wi 3797 W FTEAT AT S SPIAE W T & O STad 1 o | 2 9w
3T AfT e TR S A R § | e foRd gU ST H | Iy 399 1,000 9 F U A
e g i % 5 T | ST % e A a9 g i #R % fog s weteeEt
HIfT |

8.  Meena Ltd., issued 60,000 shares of Rs. 10 each at a premium of Rs. 2 per share
payable as Rs. 3 on Application, Rs. 5 (Incl. Premium) on allotment and the balance
on 1% and final call. Applications were received for 1,02,000 shares. The Directors
resolved to allot as follows :

(A) Applicants of 60,000 shares 30,000 shares
(B) Applicants of 40,000 shares 30,000 shares
(C) Applicants of 2,000 shares Nil

Nikhil who had applied for 1,000 shares in category A, and Vish who was allotted
600 shares in category B failed to pay the allotment money. Calculate the amount
received on Allotment. 3

Hir feafee 3 10 399 a6t 60,000 3i911 =T 2 uar i i difags i 5 @ feiae e | e
W ufa {91 3 BT e W, 5 794 (g9 Fiea) e=" W 791 99 999 e 31~ greqr
WIFF 11,02,000 3 F [T & U U | GaTerhl 4 FEER e S # Hvag
fopa

(31) 60,000 37T 3 STATHT A 30,000 3@

(& 40,000 3791 o ST 30,000 391

(@) 2,000 39l % SATATH HI FT Tl

‘fafer = 1,000 29 & foQ goft ‘3 ® 3masH foean o qan ‘faer &9 o 9 o
600 3791 STaTee 2 T & T TRT T IAT FH | ST W | S T AT ST
I 0T T |
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9. A, B & C were partners in a firm having capitals of Rs. 60,000; Rs. 60,000 and
Rs. 80,000 respectively. Their Current Account balances were A : Rs. 10,000;
B: Rs. 5,000 and C: Rs. 2,000 (Dr). According to the partnership deed the partners
were entitled to interest on capital @ 5% p.a. C being the working partner was also
entitled to a salary of Rs. 6,000 p.a. The profits were to be divided as follows :

(a) The first Rs. 20,000 in proportion to their capitals.
(b) Next Rs. 30,000 in the ratioof 5: 3 : 2.
(c) Remaining profits to be shared equally.

The firm made a profit of Rs.1,56,000 before charging any of the above items.
Prepare the Profit & Loss Appropriation Account and pass necessary journal entry
for apportionment of profit. 4
‘BT, T TN W TH BH A WRER o e T wEen 60,000 T2, 60,000 T T
80,000 T9F &t | 39 TTe] WAl & 99 ‘37" 10,000 T, ‘& 5,000 F72 747 ‘7' 2,000 T
(AT) & | WEERT foeig & AR WEER ufaay 5% i R | IS W = 75 5 AWER o |
@ S AT WEER 91, 9qad 6,000 T9F aq9 9 F A SAFHT 91 | = fawee
R g

(31) W 20,000 T9F TSt & ST |

(F) 30T 30,000 T 5 : 3 : 2 % AU H

() 99 A F 9 SRR-a0E) % S A |

SRiE fHdr off 7% F T uaR &R | 9d w5 7 1,56,000 T3 FT AT FAET | AE-E
fafra @ AR ST 99T A9 & WSS & AEEF A= gaee Sie0 |

10. (a) A & B are partners in the ratios of 5 : 4. They admit C for 1/ 10® share, which
he acquires, in equal proportions from both. Find the new profit sharing ratio.

(b) A, B & C were partners in a firm sharing profits in the ratio of 8 : 4 : 3. B
retires and his share is taken up equally by A & C. Find the new profit sharing
ratio. 2+2=4
(31) ‘30 TAT ‘T WISR & S A Bl S : 4 F S | fawiiord R € | 3% T F1/10
3y @y % e i | yrarer e, 9 9 S | SRISR-SR1eR & SO § wer £ | S
TISTST =T 4T SF[9T 11 it | :
(@) I, T AW TH FH H GRIGR & A AH 8 : 4 : 3 F UK § ATt Fa & |
T FTHI TET FHIAT ¢ T ST Y S A I 37 T ‘W SRR-KR o € | 1
TS =1 74 31T 1 RIS |
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11. Mona Ltd., has issued 20,000, 9% Debentures of Rs. 100 each of which half the
amount is due for redemption on March 31* 2008. The company has in its Debenture
Redemption Reserve Account a balance of Rs. 4,40,000. Record the necessary
journal entries at the time of Redemption of Debentures.

" fefaee F 20,000, 9% Foraa Frifaa fFa gT & St 7 100 390 HT & | 30 § oY
O T I 31 T 2008 T EHT € | ST % FOTTH VT B @ H 4,40,000 T H
IS T | T % Ve % THG I ST IS wiafeedt S |

12.  The following is the Receipts & Payments Account of Queen’s Club for the year

ended March 31 2008.
Receipts Rs. Payments Rs.
To Balance b/d 1,82,000 | By Salaries 1,66,000
«  Subscriptions 1,80,000 | » Stationery 32,000
v Tournament Fund 1,64,000 | = Rent 48,000
» Interest (investments) 65,000 | » Telephone expenses 8,000
»  Donations 1,12,000 | » Sports Material & Exp. 78,000
v Sale-concert tickets 2,47,000 | » Investments 6% 5,00,000
w  Misc. Exp. 24,000
»  Concert Expenses 58,000
v Balance c/d 36,000
9,50,000 9,50,000
The following additional information is provided :
(a) Subscriptions include Rs. 12,000 for 2006-07 and Rs. 18,000 for 2008-09.
(b) Stock of stationery on 31* March, 2007 and 2008 was Rs. 7,200 & Rs. 5,400
respectively.
(c) Stock of Sports material at the beginning and end of the year was Rs. 12,000
and Rs. 21,000 respectively.
(d) Rent includes Rs. 4,000 paid for March, 2007. Rent for March, 2008 is
outstanding.
(e) Telephone expenses include Rs. 3,000 as quarterly rent up to May 31% 2008.
(f) The value of Building as on 31* March 2007, was Rs. 8,00,000 and you are
required to write off depreciation at 10%.
(g) The value of investments on 31% March, 2007 was Rs. 10,00,000 and the club
made similar additional investments during the year on 1* October, 2007.
You are required to prepare the Income & Expenditure Account of the club for the
year ended March 31% 2008.
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31 AT 2008 i FHIC &4 ATt Y o [oTT T Foral 1 W T SFTA Wl Aol & ;
wifeat L0} YA g
Toren 91y o 1,82,000 | g 1,66,000
i 1,80,000 | TR 32,000
A= U 1,64,000 | ferrar 48,000
=1+ (Tatam) 65,000 | ZeHH = 8,000
T 1,12,000 | 3ier QM 991 = 78,000
et fefere faspar 2,47,000 | 6% fafarT 5,00,000
fafay =g | 24,000 |
Tt =59 | 58,000
Y S A T 36.000
9,50,000 9,50,000
xfatiae gamT =it €

(31) T=H 12,000 T9F 2006-07 3 74T 18,000 TIZ 2008-09 &F VAT € |
(F) IR T 31 [T 2007 9T 2008 T HEY 7,200 TIF T4T 5,400 TIF 47 |
(F) SHIST G 1 WM I8 & TR G907 371 | 5689 12,000 93 741 21,000 99 47 |

(@) TFTE 4,000 T9F 1T 2007 3 G & 99T 5 2008 F T ET €

@) TEEE = 3,000 T SATGE (FEee) fREr 31 9, 2008 & F i € |
(%) 31T 2007 H ¥a7 H1 T 8,00,000 T3 &1 fo7 W 10% 1 3 ¥ 51 FRATE |

(M 31 "= 2007 F aFEET # ged 10,00,000 T o1 o9 7 3T UER F AfarRa
fafra =1 g a9 % 3R 1 3TeRER 2007 i fwarar |

31 =59 2008 =t FHIG &4 et 99 o [T Forsl T SE-297 Tl G4R iy |

13. X, Y & Z were partners sharing profits in the ratio 3 : 2 : 1. On 31* March, 2008,
their Balance Sheet stood as under :

Liabilities Rs. Assets Rs.
Capitals : Rs. Cash at bank 70,000
X9 75,000 Investments 50,000
Y. 70,000 Patents 15,000
4 50,000 1,95,000 | Stock 25,000
Creditors 72,000 | Debtors 20,000
General Reserve 24,000 | Buildings 75,000
Machinery 36,000
2,91,000 2,91,000

Z died on May 31* 2008. It was agreed that :
(a) Goodwill was valued at 3 years’ purchase of the average profits of the last five
years, which were, 2003: Rs. 40,000; 2004: Rs. 40,000; 2005: Rs. 30,000;
2006: Rs. 40,000 and 2007: Rs. 50,000.
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(b) Machinery was valued at Rs. 70,000, Patents at Rs. 20,000 and Buildings at
Rs. 66,000.

(c) For the purpose of calculating Z's share of profits till the date of death, it was
agreed that the same be calculated based on the average profits for the last
2 years.

(d) The executor of the deceased partner is to be paid the entire amount due by
means of a cheque.

Prepare Z’s Capital Account to be rendered to the executor and also a Journal entry

for the settlement of the amount due to Z’s executors. 6

Ve, TS T STS WIRIER & S i 1 3 1 2 1 3 ST & Frsiiore &< € | 31 W1 2008 Y
3R FRafq-faaroT fefefes or

AT w0 watat w0
i : 04 TFETH A 70,000
TR 75,000 fatram 50,000
ar: 70,000 Lo 15,000
FF: 50,000 1,95,000 | =% 25,000
TTRR 72,000 | 3R 20,000
R €T 24,000 | 9o 75,000
YR 36,000
2,91,000 2,91,000

31 HE 2008 i S F TG & TS | FHSHAAT 7 YHR g2 :

(37) A 1 qedish ToTd Ui At & 3id o1 % o9 oY % 569 o SIS &N | ST 2003
H 40,000 T4, 2004 7 40,000 ¥92, 2005 7 30,000 T9, 2006 H 40,000 TIF 4T
2007 ¥ 50,000 ¥9F & |

(@) TR & 70,000 $99, YS=H H1 20,000 T T4 HGT H 66,000 TTF T g
g |

(@) S GG I 57 7% 3T 319 & AT B T FA % fore T o ma f oy
1 T T &1 ST 3 I oY & SUR WA |

(®) T WEIER B TEE T YR H AN G HEGEH B G T GRTH AT
A |

W T Yo7t G S I 15 it AT ST €, FIR HI 791 S F 991G i 37 S=Riis

% YA T IS AT HiTeT |

14. (a) Mohit Ltd., took over assets of Rs. 8,40,000 and liabilities of Rs. 80,000 of
Ram Ltd. at an agreed value of Rs. 7,20,000. Mohit Ltd. paid to Ram Ltd., by
issue of 9% debentures of Rs. 100 each at a premium of 20%.
Pass necessary journal entries to record the above transactions in the books of
Mohit Ltd.

(b) Give Journal entries in each of the following cases if the face value of a
Debenture is Rs. 100.
(i) A debenture issued at Rs. 110 repayable at Rs. 100
(i) A debenture issued at Rs. 100 repayable at Rs. 105
(iii) A debenture issued at Rs. 105 repayable at Rs. 105 3+3=6
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15.

(31 Tifed fafads = 1 fafads = wmfaar 8,40,000 T0F @or I=1RET 80,000 T9 i UH
fafeara gea 7,20,000 T93 ¥ 37 | Hifed fAtges 7 100 T9F Gk aret 9% FOTasi
it 20% SFas R it s 1 fefies &1 ram foea |
W oAl % A@iwT & fou Hifea o1, o gt ° Srevas st wiateEr
HifeTT |

@) fr=fetaa & foe srevas Asmmen wfafsedr Sive afs e ®wous & sifed qog
100393 8 :
(i) U R 1 AT 110 39§ R S 100 $9 O I 49T |
(i) W o9 1 fTE 100 392 | foRar St 105 $98 TR 9T o7 |
(ili) TP FOIF 105 T. § Fifee fopan Foraen w1y 105 98 W BT 47 |

A Co. issued to the public for subscription 40,000 shares of Rs. 10 each at a discount
of 10% payable as Rs. 2 each on application, Allotment and First call and Rs. 3 on
the Final call. Applications were received for 60,000 shares and allotment was made
pro-rata to 80% of applicants. R to whom 1,600 shares were allotted paid only the
application money, and S who had applied for 2,400 shares paid the entire call
money due along with the allotment. Pass necessary Journal entries to record the
above transactions.
OR

Petromax Ltd., issued 50,000 shares of Rs. 10 each at a premium of Rs. 2 per share
payable as Rs. 3 on application Rs. 5 including premium on allotment and the
balance in equal instalments over two calls. Applications were received for 92.000
shares and the allotment was done as under :

A : Applicants of 40,000 shares - Allotted 30,000 shares
B : Applicants of 40,000 shares —  Allotted 20,000 shares
C : Applicants of 12,000 shares - Nil

Suresh who had applied for 2,000 shares (Category A) did not pay any money
other than application money.

Chandar who was allotted 800 shares (Category B) paid the call money due
along with allotment.

All other allottees paid their dues as per schedule.

Pass necessary journal entries in the books of Petromax Ltd. to record the
above.

TF FEET 7 10 T T 40,000 3797 T S HRH & e fFFET 10% 82 w
TSTaepT 3Mae, STeweH, Ue o e Weldeh W) 2 BT a S~ A1 ) 3 5941 0fd 3791 3
a7 | 60,000 ¥ % foT T U WIS §W AN 80% SAGHI FI SN SMHR T =
femar mar | IR R 1,600 T snafa S T 9, F Fact g i F & A G |
g ew T 2,400 T & fow smae fFan an, e & 9ug g 9t A it &6
T R 5T | STRieRT % T avravges Jsimen wiafseat it |

ar

67/1/1 8



16.

-1/ 9 ' [ P.T.O.

T2 fafies 3 50,000 3 i EE TS 9 10 T F 91, 2 %, Stfuged W it
forar | STl T A 3 F. AT W 5 T, e W Ao Whed a9 99 A I SR A
Toheetl o 31 ATeATST W foRaT ST 41 192,000 319 % 6T S1esA Wie gu =T aEe =
TR fopar T

3 ;40,000 3730 & MESH F — 30,000 3i¥7 Syeted fHu M@ |
T ;40,000 3T F SEH B — 20,000 3iy7 27Efed fU @ |
F : 12,000 390 ¥ ETH @ —~ IS 3fyr enafed = o T |

T, e 2,000 219 % e e forar ar (St <3r) staea i & sfafte g
off e &Y 3 T |

o5 7, 59 800 3w awEfed fFy MU (St ) IMeE ART & W & AT AR H
e o 3 T |

IRl Tt Srateat 3 YT g9g w o 3 i v g o

ey fafaes it qas § SWE 1 oEl A F 6 enavaes JsHmn wrafseat
HIT |

Jain & Gupta were partners sharing profits in the ratio of 3 : 2. Their balance sheet
on March 31% 2008 was as follows :

Liabilities Rs. Assets Rs.
Creditors 20,000 | Cash 14,800
Bills payable 3,000 | Debtors 20,500
Bank overdraft 17,000 | Less: Prov. for
Reserve 15,000 Bad debts _ 300 20,200

| Jain’s Capital 70,000 | Stock 20,000
Gupta’s Capital 60,000 | Plant 40,000
Buildings 70,000

Motor Vehicles 20,000

1,85,000 1,85,000

They agreed to admit Mishra for 1/4™ share from 1-4-2008 subject to the following
terms :

(a) Mishra to bring in capital equal to 1/4™ of the total capital of Jain & Gupta
after all adjustments including premium for goodwill.

(b) Buildings to be appreciated by Rs.14,000 and stock to be depreciated by
Rs. 6,000.

(c) Provision for Bad debts on Debtors to be raised to Rs. 1,000.
(d) A provision be made for Rs. 1,800 for outstanding legal charges.
(e) Mishra’s Share of goodwill/premium was calculated at Rs. 10,000.

Prepare Revaluation Account, Partner’s Capital Accounts and the Balance Sheet of
the new firm on Mishra’s admission.

OR



A, B & C were in partnership sharing profits in proportion to their capitals. Their
Balance Sheet on 31-3-2008 was as follows :

Liabilities Rs. Assets Rs.
Creditors 15,600 | Cash 16,000
Reserve - 6,000 | Debtors 20,000
A’s Capital 90,000 | Less: Prov. for
B’s Capital 60,000 doubtful debts 400 19,600
C’s Capital 30,000 | Stock 18,000

Machinery 48,000
Buildings ' 1,00,000
2,01,600 2.,01,600

On the above date B retired owing to ill health and the following adjustments were

agreed upon :

(a) Buildings be appreciated by 10%.

(b) Provision for doubtful debts be increased to 5% of debtors.

(c) Machinery be depreciated by 15%.

(d) Goodwill of the firm be valued at Rs. 36,000 and be adjusted into the Capital
Accounts of A & C who will share profits in future in the ratio of 2 : 1.

(e) A provision be made for outstanding repairs bill of Rs. 3,000.

(f) Included in the value of creditors is Rs. 1,800 for an outstanding legal claim.
which is not likely to arise. _

(g) Out of the insurance premium paid Rs. 2,000 is for the next year. The amoun:
was debited to P & L A/c. _ ;

(h) The partners decide to fix the capital of the new firm as Rs. 1,20,000 in the
profit sharing ratios.

(i) B to be paid Rs. 9,000 in cash and the balance to be transferred to his Loan
Account.

Prepare the Revaluation Account, Partners’ Capital Accounts and the Balance Sheet
of the new firm after B’s retirement.

S T T WEER & S ArH H 3 ;2 % 9 | foitor e & | 31 | 2008 H
37! fRafe faeror Frforfiae o

ATt 0 wfaat T
TR 20,000 | IFe 14,800
< faom 3,000 | IT&R 20,500
EECICICED 17,000 | 3o %971 G 300
e | 15,000 20,200
57 — 70,000 | ®rF 20,000
W T 60,000 | ¥= 40,000

o 70,000
Hie M 20,000
1,85,000 1,85,000
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frefefaa vt W, 1-4-2008 § 3 s =it 1/4 74 & 3fer & fo0 waer 37 % fofe wema gu

(3 foen, 59 3 T Wi wEEeE e @t & oo it o st € % avE
A YoTt T 1/4 9FT 3 R o7t & €9 | AR |

(@) 9aTH 14,000 T T FHET & T L R 6,000 TIF FT T FRATE |

(F) IR W EETY RO % A0 2@ 1,000 398 06 FATE |

(3) AT FA1 o forT St 31edt 317G €, 1,800 T T TASH FEATE |

@) e et EEia / iftEs @ ToET 10,000 S0 B TEE |

T o YaeT W G @, WTRIRRI & UoTt @ a9 78 H w1 fafa-faave dar |ifee |
AYAT

‘B, @ AT W WEER & S A i G F S § fawfead %@ & 1 31-3-2008 A
fReyfe-Fearamor FrrAfertiae ar :

TETat *qd Wt Er)
TER 15,600 | T=g 16,000
=g 6,000 | &R - 20,000
LG ¢ 90,000 | —gEamoT ST 400 19,600
ot W 60,000 | ©i® 18,000
o 30,000 | TelRT 48,000

T 1,00,000
2,01,600 2,01,600

IR fafT = ‘T F SHR & TH F HROT I FH TeUT AT a1 e geaeT
fma T

(31) HEAH 10% TFATE |

(@) ey wol % fon 3T, SERI 1 5% % HEE |

(@) HR W 15% B9 FRATE |

() H F T 1 geaiwa 36,000 9 T ma, fae wHEee o 9w % S @t
# T it sifarsa & @t @61 3 ;1 % ST | st &3 |

(@) " A {5t & f1g 3,000 T92 7 3G FATE |

(%) TR H 1,800 T 31 T =41 & AfeAferd & S S T a7 ¢ |

(M) S i e A 2,000 T 30T a9 % fau aftfed € gur av-aite ae | am o
ferdgue |

() WEER A 7E BH ST 1,20,000 $93 T i it S7E o & a9 el |

(F) @ F 9,000 T F THT AR [T AT T4T I ITF FT WA H TAFRINT FX
e s |

‘T’ % ST UEVT & I (A @I, EERT & Yol @t 72 75 % 1 Rfa-fgamor
TR HT |
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Part-B
(Analysis of Financial Statements)

HT -9
(fatt ferawort =1 fargerwon)

17. State why non-cash transactions are ignored while preparing a Cash Flow
Statement ?

e yaTe foeor R Fa 96T e Sl @l 39T i @ St g 2

18. When is Dividend received considered as operating activity ?
T SATHIRT &l W= fShaTeheiT &hel HHei S ¢ 7

19.  What will be the operating profit ratio, if operating ratio is 83.64 % ?
7S JaTe ST 83.64 % & A T TS ST 941 8 ?

20. 'What are the importance of Financial Statement Analysis ?

fardta fereror forveioor & g R € 2

21. Prepare a comparative Income Statement from the following :
31% March 2007 31* March 2008

Rs. Rs.

Sales 10,00,000 12,50,000
Cost of Goods sold 5,00,000 6,50,000
Operating expenses 50,000 60,000
Interest on investments @ Rs. 30,000 and taxes payable @ 50%.
frefefiaa | g 3 faaror dar =i

31 |4 2007 31 A< 2008

B, 0.

forsra 10,00,000 12,50,000
I T A i AT 5,00,000 6,50,000
PRI E D 50,000 60,000

fafat o =3t 30,000 393 €, T4 K 50% HITHTE |
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22. (a) Net Profit after Interest but before tax Rs. 1,40,000; 15% long term debts
Rs. 4,00,000, Shareholders funds Rs. 2,40,000; Tax rate 50%. Calculate Return
on capital employed.

(b) Opening Stock : Rs. 60,000; Closing Stock: Rs. 1,00,000; Stock turnover Ratio
8 times; Selling price 25% above cost; Calculate the Gross Profit ratio. 2+2=4

(31) AT FleA F F% T4 B AT | @ IF A 1,40,(5003@, 15% SEhTei 0T
4,00,000 I3, IR Y 2,40,000 T3, R FI R 50%, Faia T | g it
T ST |

@) WRfEYE W 60,000 T3, = € 1,00,000 T92, Wi e S 8 o, fawa
o AT § 25% 314, Hehet T STAT i T ity |

23. X Ltd., made a profit of Rs. 1,00,000 after considering the following items :
(a) Depreciation on Fixed Assets Rs. 20,000.
(b) Writing off preliminary expenses Rs. 10,000.
(¢) Loss on sale of furniture Rs. 1,000.
(d) Provision for taxation Rs. 1,60,000.
(e) Transfer to General Reserve Rs. 14,000.
(f)  Profit on sale of machinery Rs. 6,000.

The following additional information is available to you :
31-3-2007 31-3-2008

Items
Rs. Rs.
Debtors 24,000 30,000
Creditors 20,000 30,000
Bills Receivable 20,000 17,000
Bills Payable 16,000 12,000
Prepaid expenses 400 600
Calculate Cash flow from operating activities. 6

fteiad #al i & H TEd gu U fefaes 7 1,00,000 T9F T AT HH7ET
(31 e gEtaEl ) 20,000 $93

(F) URMTS =40 & 39erET 10,000 T99

(§) TR i fash @ & 1,000 39

() W F o e 1,60,000 T9F
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(@) ER T F o SR 14,000 T99
(F) HE=RI % fohd @ 19 6,000 393

Rt Frefetaa sifafier gem STesa #
. 31-3-2007  31-3-2008
b L0 wud
TR 24,000 30,000
TR 20,000 30,000
e o 20,000 17,000
37 faus 16,000 12,000
T4 T9 & 400 600
T feRaTReITal | g WaTE i TUT HiTSTY |
Part-C
(Computerised Accounting)
WIT -7
(rfvremfers i)
What is Coding ?
HehaIehoT (HIFST) & ?

What is a super group ?

SUR-TE (YR I9) F18 ?

List any four basic systems of computerized accounting system.

AT TETRT TR % IS IR SR T Fd15d |

What is import & export of data ?

HHS &1 A qur e g ?

What is meant by Internal checks ?

T Sire 1 7T aead e € 2

14



22. 'What are the essentials of a good reporting system ?

% T3t idas gsia (Raifer fawen) & wifas aa g ?

23. A factory owner purchases a new machine that costs Rs. 3,00,000 and has a useful
life for 10 years, with salvage value of Rs. 30,000. Indicate the formula to be used in
an Excel worksheet to calculate Depreciation under the Diminishing Balance
Method. Also using the formula, calculate the depreciation to be provided for a day,
a month and a year.

T FE w1 @ U 19 3,00,000 $9F § T T €, g 3uanh sfeaeser 10 39 §
3R ITF 3T TeI 30,000 TIF ¥ | U &9 99 §RT &9 H M0ET A F 6w
et vl ¥ AT 819 Aot 9 1 qUITEd | G 1 € vEnT A 8 U i ¥ o, v A %
T o U T o o7 o ST 9Tt 81 F 0T i |
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